fEH VAR K4 gL Gk LR ik
24 100m | TiE 14 I E(2) 1 {7 10.90 | +1.0
HEPLE 2 41 A 10.81 | +0.8
w’ 2 fir 10.75 | -1.1 | omdee—aiem
T 5 A R TEEE(2) 17 11.06 | +1.5
HEPLE 14 2 i 10.87 | +2.8
w’ 3L 10.83 |  -1.1 | e
24 200m | TiE 14 WK 2 (2) 1 {7 22.56 | -1.7
YIRS 1 40 147 21.97| +0.4
B 147 21.88 | +0.4 | it
Rig: kil s H(2) 141 22,51 -0.9
YEIRIPS 2 #H 147 21.92 | +3.1
W 2 fir 21.92 | +0.4 | et
2 4E 400m | TiE 141 WE m6©Q) 1z 50.86
YEIRS 2 41 2 i 50.47
wm 27 49.85 i — At
Tk 6 i A MR (2) 1z 50.47
YIRS 1 40 147 50.53
wm 3fr 49.96 i — At
24F 1500m | TiEE 2 # Q) 12 fif 4:20.89
T 3 A HSEA R (2) 6 fir 4:13.30
24£ 5000m | I BB A B (2) 17 {7, 16:38.21
e % KRR (2) 34 fir 17:17.28
24E 110mH | TI% 1 41 o YER(2) 2 i1 15.99 | +0.9
YIRS 2 #H 5L 15.93 | +0.6
T 5 i JA o FEEER) 2 fir 1588 | -1.7
YRR 141 5 15.89 | -1.9
2 4 400mH | P 6 # o i) 2 fir 58.25
T 14 fEm F2) 1z 56.87
w 4 fir 55.51
24 3000mSC | TiEE 2 # kW PERI2) 13 i1 11:05.16
2Bk | BB A fEsH(2) 5fir 14m15 | +1.7
TEAS A 2H(2) 21 fir 12m75 | +0.7
2R | R BE LIl 526 (2) 2 fir 13m68 i A e
2R | T B e HE©R) 20 7 26m19
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fEH AN K4 gL Eikas LR ik
2HERD | BB Ll S (2) 25 fif 37m37
14 100m | T 4 #i HE KO 2 fir 11.32| -1.5
HEDLE 14 147 10.95| +1.6
w’ 1fir 10.93 |  -0.3 | e
T 1A gk Q) 2 fir 11.17 | +0.6
HEPLE 2 41 5 fir 11.28 | -0.2
14 200m | T 5 #i HE KO 1 {7 22.64 | -1.1
YEIR Y 5 147 22.23| +1.9
w’ s 4 fir 22.32 | +1.4
T 2 i EH - BAQ) 141 2270 | +1.2
YEIRIPS 2 #H 5 22.56 | +2.4
14 400m | T3 5 i A MEE(D) 141 52.86
YEIRIPS 2 #H 147 51.54
w’ 3fr 50.85 i — A
Tk 2 4 B H AR (L) 1z 51.58
YIRS 1 40 2 i 52.24
w’ 4 fir 50.94
145 800m | T 4 i FEP 327351 27 2:01.16
w’ 4 fir 2:01.22
T2 6 i P (L) 2 fir 2:02.63
14 1500m | T3 3 1 Jiin A2 (1) 1z 4:16.86
W B 2 {2 4:09.71 e — At
T 1A o K 2 fir 4:19.04
B 4 {7 4:12.07
14£5000m | 7 B KA K1) 1 {7 16:03.47
HF —&Q) 2 fir 16:08.06
148 110mH | i3 6 #i il R 1z 15.84 | -0.7
YIRS 2 #H 2 fir 15.81 | +0.5
w 3fr 1559 | -0.4 | mie—
T 1 P N2 PN 1 iz 15.60 | +0.5
YRR 141 17 1541 | +0.6
wm B 2 fir 1547 | -0.4 | e
14 400mH | T3 5 i HAK #ER1) 2 fir 58.07
w B 6 fir 59.55
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fEH VAR K4 gL Eikas LR ik
14 400mH | 7% 6 fH Hrl BOR(D) 4 fir 1:02.97
14 3000mSC | i 2 HR ZHE) 111 10:26.29
w’ 1 {7 9:56.32 i A
T 1 SHEF  JRUHE(D) 1 {7 10:23.73
w’ 3 1L 9:58.92 = — R e
1R | T B RER Jik(D) 17 i 5m77 | -0.2
1R | B BB R OCHEEQ) 6 fir 11m97
AZE Q) 13 fir 10m06
1R | ) B P b ZFik(1) 3L 36m90 e — A
BEH RO RhA 33m48
LR | B A OHEEQ) 1L 49m81 S — A
P b (1) 12 fi7 34m12
i 4 100mR | T-j38 8 #H W E(2) 1z 41.61
B tE@)
FHROK—©2)
SR TEEE(2)
YRR 2 L | BRI FLA(2) 1z 41.88
B tE@)
FHROK—©2)
SR TEEE(2)
B I = () 1L 41.08 S
s Am2) EaS T
AR 2 (2)
SR TEEE(2)
i 4 400mR | T-i3 4 #H R i (2) 1 {7 3:28.98
FEH EAQR)
Z -~ UNC)
£ HERE(2)
PRI 1AL | =5 M) 1 {7 3:20.95
WE E©Q)
FEH EAQR)
£ HER(2)
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fEH VAR K4 gL Eikas LR ik
il 4 400mR | {R R i (2) 4 fr 3:18.67 el A
WE E©Q)
FH EAQR)
AR 2I(2)
PR ey 147 175 s
BT 1FERE 147 105 s
BT 2R E 2 i 57 J5
fEH VAR K4 [[=¥ia Eikas L e
24 100m | P& 14 R @& 1z 12.63 | +0.5
YEIRIES 2 #H 2 i 12.51 | +2.0
w’ s 6 fir 12.75| -0.6
T 4 g7 EkE©2) 141 12.72| -0.8
YIRS 1 4 2 i 12.46 | -0.3
w’ 3fr 12.53 | -0.6 | mie—
2 4 200m | Ti% 2 fi A BR3E(2) 1z 26.08 | -0.2
YIRS 1 40 3 1L 25.88 | +0.8
w’ 5 25.74 | +0.2
Ti% 5 AH  BLH(2) 147 26.33 | +2.0
YEIRS 2 41 3 1L 25.71 | +1.7
W B 4 fir 25.73 | +0.2
2 4E 400m | TiE 5 = v HETH(2) 1z 59.87
YIRS 1 40 2 fir 58.39
W B 4 {7 57.70
T T HHE EFHIQ2) 1 {7 1:01.25
YIRS 2 #H 3L 59.00
2 4F 100mH | i3 5 i JBREF  HE(2) 1 {7 14.93 | -2.7
PR 2 A1 2 fir 14.40 | +0.0
w 2 fir 14.55 | -3.0 | mie— i
24 400mH | i3 4 L EAR(2) 3fr 1:09.04
2 ML | T B [ 5 B i AL(2) 1 {7 13m29 e — At
(NS> N () 31 11m72 i — A
2R | U B i 5 2 L AL(2) 2 fir 35m37 e — At
2R B | BB FE 2R ©Q) 4 fif 34m34
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fEH VAV K4 [[=¥ia Gk 2 LR e
14 100m | T3% 4 #1 HI o #E(1) 1L 12.77 | +2.1
YIRS 1 40 A 12.21 | +1.9
w’ 1L | xemenll.83 | 1.3 | i s
T 1A Kbk Hk(1) 17 12.68 | +0.2
HEPLE 2 41 147 12.55 | -1.7
w’ 2 fir 12.49 | -1.3 | =i
14 200m | T 2 #i I KO 1 {7 26.19 | -0.8
YIRS 1 40 147 2458 | +2.4
w’ s 1AL | xewmesn24.76 | +1.6 | me—aitn
T 3 A Kbk k(1) 141 26.28 | +0.8
YEIRIPS 2 #H 2 i 25.68 | +1.5
w’ s 3L 25.46 | +1.6 | e
14 400m | T2 4 i M =) 1 {1 59.42
YIRS 1 40 34 58.85
wm 3fr 58.50 i — At
Ti% 6 K F22(1) 1z 59.64
YEIRS 2 41 2 i 59.50
w’ B 8 fir 1:02.96
14F 100mH | T3 5 i A SEAh(1) 17 14.89 | +1.3
YIRS 1 40 147 15.46 | -2.1
B 147 15.00 | +0.5 | e
14 400mH | T3 3 41 BA A1) 3fr 1:12.08
1A =Bk | O B R EOZ272(1) 10 fir 10m24 | -1.0
1AERALEE | D B HHE HEQ) 5fir 10m51
LR | e B HHOAEZE®Q) 9 fir 25m23
i 4> 100mR | T-13E 8 #H gt Q) 1z 48.27
o EkEQ2)
AmE ETH2)
Fiy  BEQ)
YRS 2 L | 10 () 1 iz 47.32
FHi #EERQ)
AH HJIH2)
R &)
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il 4x100mR | {R o EhkEQ2) 1 47.30 el A
il #ERQ)
AH #H(2)
R &)

Jtii 4x 400mR | T-I3 7 AH Al AxE8(2) 1 {7 4:05.59
¥ =)
A B (2)
KB F22(1)

YEPRPS 2 40 | ATl HREE(2) 2 fir 3:57.72
= HRETH(2)

A BrE Q)
HH&FHI2)

R HHOEFHI) 2 fir 3:54.76 e — i
= v HiETH(2)
KB H22(1)
ST (G

LAE 3 119 /5
LT 1 RS 3z 48 5
T 2 R 4 (L 56 5
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